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i = 0.18%

L = 483.56 m

i = -0.40%

L = 122.25 m
i = -0.40%

L = 13.69 m

i = 0.16%

L = 171.46 m

i = 0.24%

L = 131.07 m

i = -0.35%

L = 46.38 m

i = 0.20%

L = 258.44 m
i = -0.28%

L = 235.24 m i = 0.23%

L = 55.85 m

i = 
3.2

4%

L =
 3.1

0 m

i = 1.02%

L = 32.37
 m

L = 145.00 m

f = -0.11 m

R = 25000 m

L = 84.68 m

f = 0.06 m

R = 15000 m
L = 180.00 m

f = -0.14 m

R = 30000 m

L = 110.00 m

f = 0.08 m

R = 20000 m
L = 192.62 m

f = -0.12 m

R = 40000 m

L = 30.14 m

f = 0.11 m

R = 1000 m
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i = 0.18%

L = 483.56 m

R = 25000 m

L2 = 72.50 m

L1 = 72.50 m

i = -0.40%

L = 122.24 m i = -0.40%

L = 13.69 m
R = 15000 m

L2 = 42.34 m

L1 = 42.34 m

i = 0.16%

L = 171.46 m

i = 0.24%

L = 131.07 m

R = 30000 m

L2 = 90.00 m

L1 = 90.00 m

i = -0.35%

L = 46.38 m

R = 20000 m

L2 = 55.00 m

L1 = 55.00 m

i = 0.20%

L = 258.44 m

R = 40000 m

L2 = 96.31 m

L1 = 96.31 m

i = -0.28%

L = 235.24 m

i = 0.23
%

L = 55.
85 m

R = 1000 m

L2 = 15.07 m

L1 = 15.07 m

i =
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.2
4
%

L
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0
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 ELEMENTY TRASY L = 30.42 m L = 9.42 m

L = 119.34 m

R = -320 m

L = 18.71 m L = 30.95 m L = 265.72 m

L = 228.27 m

R = 2000 m

L = 360.47 m

L = 417.77 m

R = -5000 m

L = 129.00 m

L = 140.91 m

R = 250 m

L = 119.07 m

L = 124.46 m

R = -350 m

L = 217.26 m

L = 76.95 m

R = 800 m

L = 7.49 m

Istniejąca krawędź jezdni
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RZĘDNE DNA ROWU

Niweleta dna rowu i rowu krytego
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